


(1) Z, U, Q, ?, L

[A] I

[B] K

[C] M

[D] N

Answer : [D]

Explanation: 
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(2) Z, Y, X, U, T, S, P, O, N, K, ?, ?

[A] H,G

[B] H, I

[C] I,H

[D] J, I

Answer : [D]

Explanation: 
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(3) _ a _ b _ abaa _ bab _ abb

[A] aaabb

[B] ababb

[C] babab

[D] babba

Answer : [D]

Explanation: 
The series is baa/bba/baa/bba/baa/bb. Thus, the pattern baa/bba is repeated.

www.myexamportal.com | www.couponlal.com | www.examlal.com | www.joblal.com | www.examyou.com

(4) a _ n _ b _ _ ncb _ _ ncb

[A] abbbec

[B] abebeb

[C] bacbab

[D] bcabab

Answer : [D]

Explanation: 
The series is abncb/abncb/abncb. Thus, the pattern 'abncb' is repeated.
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(5) bca _ b _ aabc __ a __ caa

[A] acab

[B] bcbb

[C] cbab

[D] ccab
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Answer : [A]

Explanation: 
The series is bcaa/bcaa/bcaa/bcaa. Thus, the pattern 'bcaa' is repeated.
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(6) Arrange the words given below in a meaningful sequence.
   1. Key    2. Door    3. Lock    4. Room    5. Switch on

[A] 1, 2, 3, 5, 4

[B] 1, 3, 2, 4, 5

[C] 4, 2, 1, 5, 3

[D] 5, 1, 2, 4, 3

Answer : [B]
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(7) Arrange the words given below in a meaningful sequence.
   1. Patient    2. Diagnosis    3. Bill    4. Doctor    5. Treatment

[A] 1, 4, 2, 3, 5

[B] 1, 4, 3, 2, 5

[C] 1, 4, 2, 5, 3

[D] 4, 1, 2, 3, 5

Answer : [C]
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(8) Arrange the words given below in a meaningful sequence.
   1. Atomic Age    2. Metallic Age    3. Stone Age    4. Alloy Age

[A] 1, 3, 4, 2

[B] 2, 3, 1, 4

[C] 3, 2, 4, 1

[D] 4, 3, 2, 1

Answer : [C]
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(9) Arrange the words given below in a meaningful sequence.
   1. Leaf    2. Fruit    3. Stem    4. Root    5. Flower

[A] 3, 4, 5, 1, 2

[B] 4, 1, 3, 5, 2

[C] 4, 3, 1, 2, 5

[D] 4, 3, 1, 5, 2

Answer : [D]
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(10) Arrange the words given below in a meaningful sequence.
   1. Post­box    2. Letter    3. Envelope    4. Delivery    5. Clearance

[A] 2, 3, 1, 4, 5

[B] 3, 2, 1, 4, 5

[C] 3, 2, 1, 5, 4
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[D] 3, 2, 4, 5, 1

Answer : [C]
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(11) Introducing a man, a woman said, "He is the only son of the mother of my mother." How is the woman related to the man?

[A] Mother

[B] Sister

[C] Niece

[D] Maternal aunt

Answer : [C]

Explanation: The man is the only son of the mother of the woman. Hence, the man is the maternal uncle of the woman. So, the woman is the niece of the
man. 
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(12) Pointing to a boy in the photograph Reena said, "He is the only son of the only child of my grandfather." How Reena is related to that boy?

[A] Mother

[B] Sister

[C] Aunt

[D] Cannot be determined

Answer : [B]

Explanation: 
The boy in the photograph is the only son of Reena's grandfather's only son; i.e., the boy is the only son of Reena's father.
Hence, the boy is the brother of Reena or Reena is the sister of the boy.
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(13) Pointing towards a girl, Abhisek says, "This girl is the daughter of only a child of my father." What is the relation of Abhisek's wife to that
girl?

[A] Daughter

[B] Mother

[C] Aunt

[D] Sister

Answer : [B]

Explanation: Only the child of my father means 'Abhisek' himself. This means the girl is the daughter od Abhisek. Hence, Abhisek's wife is the mother of
the girl. 
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(14) Anupam said to a lady sitting in a car, "The only daughter of the brother of my wife is the sister­in­law of the brother of your sister." How
the husband of the lady is related to Anupam?

[A] Maternal uncle

[B] Uncle

[C] Father

[D] Son­in­law

Answer : [D]

Explanation: 
Anupam's son­in­law is the brother of the lady who was sitting in the car. Hence, the husband is also the son­in­law of Anupam.
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(15) A is the son of C; C and Q are sisters; Z is the mother of Q and P is the son of Z. Which of the following statements is true?

[A] P and A are cousins

[B] P is the maternal uncle of A

[C] Q is the maternal grandfather of A

[D] C and P are sisters

Answer : [B]

Explanation: 
C and Q are sisters and A is the son of C. Hence, C is the mother of A or Z is the mother Q.
Hence, Z is the maternal grandmother of A. P is the son of Z. Hence, P is the maternal uncle of A.
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(16) Question: What is Suman's rank from the top in a class of forty students ?
Statements:

I.  Suman is 3 ranks below Deepak from the top.

II.  Deepak's rank from the bottom is 23.

III.  Suman is 3 ranks above Deepak from the bottom.

[A] Any two of the three

[B] Only I and II

[C] Only II and III

[D] All I, II and III

[E] Only II and either I or III

Answer : [E]

Explanation: 
From II, we conclude that in a class of 40, Deepak ranks 23rd from the bottom i.e. 18th from the top.
From I and II, we find that Suman is 3 ranks below 18th rank from the top i.e. she ranks 21st from the top.
From II and III, we find that Suman is 3 ranks above 23rd rank from the bottom
i.e. she ranks 20th from the bottom or 21st from the top.
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(17) Question: Among P, Q, R, S and T, Q is the second tallest and S is immediate taller than the shortest. Who among them is in the middle when
they stand in the order of their heights ?
Statements:

I.  T is not the shortest.

II.  R is taller than S but shorter than Q.

III.  P ranks third in height above S when all are arranged in the order of height.

[A] Only I and II

[B] Either II only or I and III only

[C] Only II

[D] Only II and III

[E] None of these

Answer : [B]

Explanation: 
From the given statement, the descending order of heights is :__, Q,__, S,__.
From II, we have the order: _, Q, R, S,__. Thus, R is in the middle.
From III, we have the order : P, Q,__, S,__. But, according to I, T is not the shortest.
So, R is the shortest. Thus, we have the order : P, Q, T, S, R. So, T is in the middle.
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(18) Question: Who is the tallest among six boys P, T, N, D, Q and R ?
Statements:

I.  P is taller than D and N but not­as tall as T.

II.  R is taller than Q but not as tall as T.

III.  Q is not taller than T and R.

[A] Only I and II

[B] Only II and III

[C] Only I and III

[D] All I, II and III

[E] Only I and either II or III

Answer : [A]

Explanation: 
From I, we have: P > D, P > N, T > P i.e. T > P > D > N or T > P > N > D ...(i)
From II, we have: R > Q, T > R i.e. T > R > Q ...(ii)
From III, we have: T > Q, R > Q ...(iii)
Clearly, from (i) and (ii), we conclude that T is taller than each one of P, N, D, R and Q. So, T is the tallest.
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(19) Question: How many sons does X have ?
Statements:

I.  Q and U are brothers of T.

II.  R is sister of P and U.

III.  R and T are daughters of X.

[A] Only I and II

[B] Only II and III

[C] All I, II and HI

[D] I, II and III together are not sufficient

[E] None of these

Answer : [D]

Explanation: 
From I, II and III, we conclude that all P, Q, R, T and U are children of X. Of these, Q and U are male while R and T are female. But the sex of P cannot
be determined.
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(20) Question: What does 'come' represent in a code language ?
Statements:

I.  'pit na tac' means 'come and go' in that code language.

II.  'ja ta da' means 'you are good' in that code language.

III.  'na da rac' means 'you can come' in that code language.

[A] Only I and II

[B] Only II and III

[C] Only I and III

[D] All I, II and III

[E] None of these

Answer : [C]

Explanation: 
To find the code for 'come', we need to have two statements which have one common code word and 'come' as the common word, which is there in I and
III.
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